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9(2)=3, g(2)=-1 0lSy . f(U)=U2-1 ;&> . ((h(X)=FGIX ;018 I3] 15 (25)
il e « (M2 250

h'(x)=f(g(x))xg'(x)h'(2)=f(g(2))xg'(2)=f(3)x -1
f(u)=u2-1-f(u)=2u-f(3)=2x3=6
'O

h'(2)=f(3)x—-1=6x-1=-6

Soislz] Dpso Y = 0 loic y = (¢ - 4)° :0LudY] adiiuo 2z 0 (26)

y=(x2-4)50=(x2-4)5-x2-4=0-(x—2)(x+2)=0dydx=5(x2-4)4(2x)=1
0x(x2—4)4dydx|x=2=10(2)(22—-4)4=0dydx|x=—2=10(-2)((-2)2-4)4
=0

Soislz] | so alizo ¥l oYl ol tcalixall casisT (27)

1

flx) =V +1 h(x) = (£ + 1)° g(x) = i1y p(x)=x"+1

bl 5261 gudar 99 adlinibl oSey 3l gl 0l,sYl o» P(X)

fx)=2x+(x2+x43 10l 8V daide 2zl 152 (28)
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f(x)=2x+(x2+x)4)13f (x)=13(2x+(x2+x)4)—23(2+4(x2+x)3(2x+1))=
2+4(x2+x)3(2x+1)3(2x+(x2+x)4)23
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